—MaximizeZ\V = —o/0xy — Y/ 0uxy

st.V/0xy + %0y < Y4,0 —MaximizeZ: = —zy — Yoy

Yz, + dxy

Y/ 0xy 4+ O/ 0xy
o/ 0z + Y/ 0wy
xy + Yoy
V/O0xy + Y/ 0xy
Y/0xy +o/0xy
Yoy, + xy

V/OZE\ =+ \/OZEY

— Y/ 0z + o/ dxy
— Yz, + vy

— Y0z, + V/ 0wy
Ty, Ty

xy = V/A, Ty
7 =v/4

Y A A VAN VAN VAN VA AV A VAR VAN VAN

Yo
Yo/ 0

st.V/0xy + ¥/ 0xy
Yz, + Odxy

Y/0xzy + O/ 0xy
o/0xy + Y/ 0xy

xy + Yoy

V/0zy + Y/ 0y

Y/ 0xy + o/ dxy
Yoy + oy

Y/ 0z, + V/0xy
— Y/ 0xy +o/dxy
— Yo, + 2y

— Y0z + V/ 0y
Ty, Ty

xy = V/A, xy

Z = V/A

<

A A N Y VAN VAN VAN A V2R VAR | VAR VAN VAN

V4,0
Yo
Yo/ 0

Y/ 0

Y/0
Yo/ 0
Yo
Yo/ 0
R
VO

o



